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Question Number : 1 Question Id : 6981771225 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

During the course of development, any child usually moves the hands before

using the palm and fingers. One of the following developmental principles does

not reflect this.
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Options :

Principle of Individual differences
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Principle of Uniformity of Pattern of Development
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Proximo-distal tendency of Development
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Development proceeds from General to Specific responses
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Question Number : 2 Question Id : 6981771226 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Feelings characterized by physiological changes are termed as

?
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Question Number : 3 Question Id : 6981771227 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The knowledge of developmental tasks is NOT meant for
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Theze help the parents to know about their child's development

::Lcc::;rdin_g to socletal norms and expectations
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Enabling teachers to label children by conducting competitions
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Helps teachers in providing appropriate experiences for adequate

development
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Helps in setting attitudes of children to learn age-appropriate tasks
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Question Number : 4 Question Id : 6981771228 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

One of the following i= NOT emphasized by Piaget's theory of Cognitive

Development
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Discovery learning
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Child centered learning
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Stimulating environment
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Question Number : 5 Question Id : 6981771229 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A child who 1s forced by his friends to eat non-vegetarian food refuses as she

doesn’'t want to break the belief of her parents that shell not do anything

against the norms of the family. According to Kohlberg's theory of moral

development, the child 1s 1n this stage of moral development
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Question Number : 6 Question Id : 6981771230 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Calculate the chronological age of a person whose mental age is 15 and IQ

Options:

50

18

10

Question Number : 7 Question Id : 6981771231 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Venu told his daughter who is preparing for school competition. ‘be serious
with your preparation to win as it gives you good name. You collect the
relevant information from various sources. Of course, if you do not win also, 1t
1s alright but your efforts should be known'. Venu 1s this type of parent
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w

- T Ty c
DR o -.‘5;2

,l‘c-

1. %
Uninvolved
&F g Hers
2. #
Authoritative
oodineg
3.
Authoritarian

r

4 % Ao

Question Number : 8 Question Id : 6981771232 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



A researcher wanted to study the effect of parenting styles on self confidence of
children. One among the following 1s an intervening variable and needs to be

controlled.

Options :

Parenting style
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Self confidence of children
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Age of children
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Purpose of study
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Question Number : 9 Question Id : 6981771233 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to Bandura. an important technique to mould behaviour 1s
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Punishing
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Modelling
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Instructing
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Commanding
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Question Number : 10 Question Id : 6981771234 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Activities p]anned for primary school students should focus on
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Options :
Conative learniﬂg only
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Cognitive, affective and conative learning
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Cognitive learning only
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Question Number : 11 Question Id : 6981771235 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of the steps to be followed in the process of

learning of a child

& oadnd ok oo ook oy =¥ . Y 4
D.—'u ) f:""f,) Crded Ia_lc‘&':‘v{}_u'ﬁ“ almboren Sharmre DJEJQ ﬁcu oy rLeJDUG[E

Options :

Attention. interest, motivation. learning. sustenance



Question Number : 12 Question Id : 6981771236 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Lakshmi as a child participated in many cultural programs and as such knew
a number of folk songs. When her daughter asked her to teach some folk songs
she could not remember many of them. The reason for forgetting in this case

can be attributed to
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Repression
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Question Number : 13 Question Id : 6981771237 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



One of the following 18 NOT a correct expression of the relationship between

teaching and learning
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Options :

Teaching 1s sharing of knowledge, learning 1s acquisition of knowledge
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Teaching is presenting information. learning is absorbing information
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Teaching 1s active process. learning 1s passive proces
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Teaching 1s providing material, learning is utilizing the material
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Question Number : 14 Question Id : 6981771238 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Which among the following are the socio cultural factors that affect learning?
208 ,;f.:--t-“-n:x":' n2f ST HemdEo e e N SO Y e, SGL Y 74 Sodgeen 599
Vi A2 Glfedal®oly (0dGi ol o of0eS ol uc-,&ﬁtﬁu alodi
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Question Number : 15 Question Id : 6981771239 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



One of the following should be avoided in the inclusive class room catering to
the needs of blind
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Question Number : 16 Question Id : 6981771240 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A teacher who believes that learners get good motivation to learn when they
can explore, experience and express freely. 1s most likely to prefer this method

of learning



Activity based learning
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Question Number : 17 Question Id : 6981771241 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Match the following learning resources with their examples
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Visit to Market to know about buying and selling
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R E0 ol P n_I.J & 3 $68) Hoaes oy "3_'"6“3)@ o
C) Self 1. Using zearch engine for data collection
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D) Technology 1v. Making shapes m sand
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A—iv,B—3,C—n1,D-1u
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A-iwv,B-1,C—-11,D—-m
2.
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Question Number : 18 Question Id : 6981771242 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

As per RTE Act. 2009 the curriculum and the evaluation procedures for
elementary education shall be laid down by
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Universities

NCERT
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Academic authority specified by the appropriate government
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Question Number : 19 Question Id : 6981771243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
As per the NCF. 2005, ‘Multilinguism®
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Options :

must be considered as a barrier by language teacher
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must be ignored by language teacher
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must be used as a resource by language teacher
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must not be accepted by language teacher
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Question Number : 20 Question Id : 6981771244 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A teacher conducted remedial classes to low achievers after school hours with
a feeling that additional support may enhance their basic capacities. Identify

the conative act of teacher

Options :

feeling of the teacher
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&a z;jﬂ oW1V rfm NG

conducting of remedial classes
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knowledge of the teacher
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thought of providing additional support
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Question Number : 21 Question Id : 6981771245 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the practice of teacher that is NOT suitable for conduct of teaching-
learning process
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Options :

teaching new concepts 1n 1solation
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linking learning experiences to present situation
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provision of proper feedback and reinforcement
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malking students learn by doing
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Question Number : 22 Question Id : 6981771246 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From among the following. identify the one that has scope for forgetting as
time passes
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speaking

o = M A
s EAID

Faat

SWlmming

Zﬁéﬁ"‘g

driving a car

- l

AT
50 ka0
3. %
material learnt without understanding
@HMTPY BHote It 5, oo
4.9 )

Question Number : 23 Question Id : 6981771247 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A cricketer realizing that he has to remain in the crease till all overs are

finished to make his team win the match. played carefully. Here, the cricketer
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both intrinsically & extrinsically
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Question Number : 24 Question Id : 6981771248 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A teacher described about her student as friendly. intelligent. cautious.

excitable, honest etc. The aspect described by the teacher
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Aptitude
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Question Number : 25 Question Id : 6981771249 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The role of therapist as per the Humanistic Approach of Carl Rogers
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Question Number : 26 Question Id : 6981771250 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A teacher observed the following aspects in her students. Identify the

statement that indicates intra mdividual differences
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Options :

The student E possess high leadership skills than other students

of the class
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The student F 1s shorter when compared with his age group students
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Question Number : 27 Question Id : 6981771251 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The tests ‘word association. cluster association and paired assoclation’ are used

to measure this of an individual
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Question Number : 28 Question Id : 6981771252 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

According to Vygotsky, use of language for self — regulation is called a
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Options :

Private speech
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Matured speech
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Social speech
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Question Number : 29 Question Id : 6981771253 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Identify the learning theory that emphasize the role of understanding and

reasoning in learning

Options :

trial and error learning
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msightful learning

classical conditioning
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operant conditioning
F-ﬁﬁ-’-‘iﬁé Neotis

4. %

Question Number : 30 Question Id : 6981771254 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

ICT helps in
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Options :

promoting equal learning among learners irrespective of their

individual differences
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teaching disabled students only
ageroll &fﬁ;tigt::—i:- smgah G Hoddo
2. % )



1dentifying high IQ students only
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Language I Telugu
Section Id : 69817741
Section Number : 2
Section type : Online
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Number of Questions : 22
Number of Questions to be attempted : 22
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 69817765
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Id : 6981771255 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (31 to 35)

Question Label : Comprehension
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Sub questions

Question Number : 31 Question Id : 6981771256 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 6981771257 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 6981771258 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 6981771259 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 6981771260 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Sub-Section Number : 2
Sub-Section Id : 69817766
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 6981771261 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (36 to 40)

Question Label : Comprehension
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Sub questions

Question Number : 36 Question Id : 6981771262 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 6981771263 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 6981771264 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 6981771265 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Question Number : 40 Question Id : 6981771266 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 69817767
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Number : 41 Question Id : 6981771267 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 6981771268 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Question Number : 43 Question Id : 6981771269 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 6981771270 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 6981771271 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 6981771272 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 47 Question Id : 6981771273 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 6981771274 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id

: 6981771275 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 6981771276 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 6981771277 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

.
= N SO L A B SR oY L A
Pl dered ‘wen’ S20 0N, .

Options :

% o e .
s dnoh

AT LAT N T Vel e



3 ¥ Birriisnaysnod

e i wEL
LI VP I;J';:_-,'fv{-‘g

4w

Question Number : 52 Question Id : 6981771278 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Question Number : 53 Question Id : 6981771279 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 6981771280 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 6981771281 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 6981771282 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 6981771283 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 6981771284 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 6981771285 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 6981771286 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Language II English

Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:
Maximum Instruction Time:

Sub-Section Number :

69817742
3

Online
Mandatory
26

26

30

Yes



Sub-Section Id : 69817768
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 6981771287 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (61 to 65)

Question Label : Comprehension

Read the following passage and answer the questions from 61-65. Choose the

correct option for each question.

In the 16th century, an age of great marine and terrestrial exploration, Ferdinand
Magellan led the first expedition to sail around the world. As a young Portuguese
noble, he served the king of Portugal, but he became mvolved in the quagmire of
political ntrigue at court and lost the king’s favour. After he was dismissed from
service by the king of Portugal, he offered to serve the future Emperor Charles V of
Spain.

A papal decree of 1493 had assigned all land in the New World west of
50 degrees W longitude to Spain and all the land east of that line to Portugal. Magellan
offered to prove that the East Indies fell under Spanish authority. On September 20,
1519, Magellan set sail from Spain with five ships. More than a year later. one of these
ships was exploring the topography of South America in search of a water route across
the continent. This ship sank, but the remaining four ships searched along the southemn
peninsula of South America. Finally. they found the passage they sought near
50 degrees S latitude. Magellan named this passage the Strait of All Sants, but today 1t
15 known as the Strait of Magellan.

One ship deserted while in this passage and returned to Spain. so fewer sailors
were privileged to gaze at that first panorama of the Pacific Ocean. Those who
remained crossed the meridian now known as the International Date Line in the early
spring of 1521 after 98 days on the Pacific Ocean. During those long days at sea. many

of Magellan’s men died of starvation and disease.

Later. Magellan became involved in an insular conflict in the Philippines and was
killed in a tribal battle. Only one ship and 17 sailors under the command of the Basque
navigator Elcano survived to complete the westward journey to Spain and thus prove

once and for all that the world is round. with no precipice at the edge.

Sub questions



Question Number : 61 Question Id : 6981771288 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Strait of All Saints 1s now known as
Options:

the Strait of Malegaon

the Strait of Magellan

3 % the Strait of Malacca

4. % the Palk Strait

Question Number : 62 Question Id : 6981771289 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

As per the passage. what 1s NOT correct in respect of Ferdinand Magellan?
Options :
He led the first expedition to sail around the world.

1. %

5 % He served the king of Portugal.

He offered to serve the future Emperor Charles V of Spain.



He was killed in a royal battle in the Philippines.

Question Number : 63 Question Id : 6981771290 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

When did Magellan set sail from Spain to prove that the East Indies fell under

Spanish authority?
Options:

September 10, 1519

September 19. 1519

2. %

September 20, 1519
3.
4 % September 20, 1521.

Question Number : 64 Question Id : 6981771291 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

As per the papal decree of 1493, the countries nvolved in land assignment m the

New World were

Options :

1.



Spain and Portugal.

Spain and Britain,

3 % Portugal and Britamn.

4 % France and Britain.

Question Number : 65 Question Id : 6981771292 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

On the basis of the passage. Ferdinand Magellan’s team proved that
Options :

the world 1s flat. with precipice at the edge.

the world is round. with no precipice at the edge.

2. %

the world is round. with precipice at the edge.

the world 1s flat. with no precipice at the edge.

Sub-Section Number : 2

Sub-Section Id : 69817769



Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 66 Question Id : 6981771293 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the correct option to complete the sentence.
A. How can I help you?

B. Please give

Options :

1 % scissor

a couple of scissors

a tongs of scissors

a pair of scissors
4,

Question Number : 67 Question Id : 6981771294 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Sr1 Ramani 1s senior Sri Charani.
Choose the correct option to complete the sentence.

Options :

1 % than



then

o

4. % oOvVer

Question Number : 68 Question Id : 6981771295 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The untimely rain has damaged the crops. and to add insult to mjury. there 1s no
minimum support price for the yield this year.

The meaning of the expression “add msult to mjury™ 1s
Options :

to make a bad situation worse
1.4

, x 1O make a good situation better

3 % to escape from the bad situation

to be happy

Question Number : 69 Question Id : 6981771296 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the wrongly spelt word.
Options :

1 % I¢ gularly

5 % clearly

ordinarly

4. % similarly

Question Number : 70 Question Id : 6981771297 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the appropriate word to complete the sentence.

All political parties promised not to taxes, if elected.
Options :

1 % Tise

raise
2. %

3 % raises

4 % rised



Question Number : 71 Question Id : 6981771298 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct option 1 which the jumbled words are ordered.

floods/The recent/rise /caused /price
Options :

The recent price caused floods rise.
1. %

5 % The recent rise caused price floods.

The recent price rise caused tloods.

4V The recent floods caused price rise.

Question Number : 72 Question Id : 6981771299 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The two friends are still talking to each other the phone.
Choose the appropriate word to complete the sentence.

Options :

1
1. %



01

through

with

Question Number : 73 Question Id : 6981771300 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

The rich man 15 enough kind to help me?
A B i D
Options :
1.2 A
B
2 ®
3. v ¢
D
4. %

Question Number : 74 Question Id : 6981771301 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

The sister said to her younger brother. “Have you completed your work?"

Choose the appropriate reported sentence.
Options :

The sister asked her younger brother if he had completed his work.
1.¢

The sister asked her younger brother that he had completed his work.

2. %
The sister asked her younger brother if had he completed his work.
3. %
. The sister asked her younger brother if he has completed his work.
4.

Question Number : 75 Question Id : 6981771302 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

She will never tolerate such nonsense.

Choose the correct question tag,

Options :
can’t she?

1. %

5 % shall she?

won't she?
3. %



4 will she?

Question Number : 76 Question Id : 6981771303 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct option to complete the following statement.
Mumbai 1s Hyderabad.

Options :

large than

larger than

3 % the largest of

largest than
4. % "

Question Number : 77 Question Id : 6981771304 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

As per the rule, whoever comes first first.

Choose the appropriate word to complete the sentence.

Options :

1 will be served



was served

3 % were served

4 % hasbeingserved

Question Number : 78 Question Id : 6981771305 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The doctor told the patient, “Keep away from tobacco™.
Choose the correct option to complete the sentence.

Options :

your

you

3 ¢ vourself

Vours
4, %

Question Number : 79 Question Id : 6981771306 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



“With the help of technology. we can construct anything but human mind.”

Identify the antonym for the word “construct” in the sentence.

Options :

1w create

destruct
2. %

build

design
4. %

Question Number : 80 Question Id : 6981771307 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct option to complete the sentence.

The soldiers their country.
Options :

are loving
1. %

1s loving
2 %

love

loving



Question Number : 81 Question Id : 6981771308 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct option combining the following sentences.

The teacher takes classes. Every day the teacher comes to college.

Options:

Every day the teacher comes to college and takes classes.
1.4

Every day the teacher takes classes but comes to college.
2. %

Every day the teacher comes to college to takes classes.
3. %

4 w Every day the teacher comes to college but takes classes.

Question Number : 82 Question Id : 6981771309 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the silent consonant letter in the word ‘consignment’,

Options:



5

Question Number : 83 Question Id : 6981771310 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The child is drawing a picture.

Identify the correct Passive Voice sentence for the given sentence.

Options :

1 % A picture has been drawn by the child.

A picture 1s being drawn by the child.
2.

3 % A picture was being drawn by the child.

A picture 1s drawn by the child.

Question Number : 84 Question Id : 6981771311 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Mount Everest 1s the highest peak 1n

Choose the correct option to complete the following sentence.



Options :
the Himalavyas

1. %

> % aHimalayas

an Himalavas
3. %

Himalayas

Question Number : 85 Question Id : 6981771312 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A teacher asks the students. “Be attentive to the audio and answer the question
given”.

It 1s primarily a activity.

Options :

listening

5 % writing

3 % reading

recifing



Question Number : 86 Question Id : 6981771313 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This specific language disability affects the reading and related language-based

processing skills

Options :

Dyspraxia

5 « Dyslexia

Dysgraphia

Dyscalculia

Question Number : 87 Question Id : 6981771314 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the Formative assessment tool for assessing English at secondary level as

per the Telangana State Board.

Options :

Project work
1.4



Experiments

2.
Problem solving
3. %
4 % Generating questions

Question Number : 88 Question Id : 6981771315 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The following one is a characteristic of an effective textbook
Options :

Lengthy content texts without visual aids
1. %

QOutdated mformation
2. %

Without specific objectives and aims
3 %

Variety of exercises and activities

Question Number : 89 Question Id : 6981771316 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Reading novels, stories and comics facilitates this type of reading
Options:

Intensive Reading

Slow Reading

3 % Loud Reading

Extensive Reading
4.

Question Number : 90 Question Id : 6981771317 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

This writing explains and illuminates facts
Options:

Persuasive writing

Narrative writing

Expository writing
5  Expository writing

4 % Descriptive writing
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Question Number : 91 Question Id : 6981771318 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of the given temperatures in descending order

= VL

(129€,-169C,-207C. 02C, 49C; 190, -19C,-49C, 167C)
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Options :

0% —19¢, 1%, 49 4%, 12% 1690, 1690, 798¢

~169¢, -49C, —19¢, 09C, 19, 49¢C, 129C, 16°C 299C

2. %



=490, =490 =169 09C, 19C, 40,1290 16%C.:29°%0

200C, 169C, 120C, 49C .19¢C, 0°C, -19C, -49C, -169C

Question Number : 92 Question Id : 6981771319 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The local time of ‘X' located at 90° East Longitude, when it 1s 12 noon at
Greenwich located at 0° longitudes 13

= .-,-:_'_ g - o _\_\_“—'T e —'3‘ — L
EaES8 S0TPLe0 12.00 foteonz, 900 &) Ogrodoy &) X

Options:
6.00 p.m.
1. P

6.00 a.m.

3.00 p.m.

3.00 a.m.

Question Number : 93 Question Id : 6981771320 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Byson Gorge 1s located in this state of India
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Jammu and Kashmir
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Gujarat
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Question Number : 94 Question Id : 6981771321 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Puerto Rica or Naves. one of the deepest trenches in the world. 1s located in this
Ocean
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The Indian QOcean

1. %
The Arctic Qcean
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2. N )
The Pacific Qcean
3 % 2855 Hefsanto
The Atlantic Ocean
r'\:_lﬂ_:-“ wg ‘_.::I G:-El.":u.-u_!"l,-.:'ﬁ'
4.

Question Number : 95 Question Id : 6981771322 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Actually, the winds move slightly to the right in the northern hemisphere and

to the left in the southern hemisphere due to the impact of
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Options :

Earth’s Revolution around the Sun on 1ts own axs
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Earth’s Rotation on its own axis
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Revolution of the Moon around the Earth on its own axis

e

g
AR T A SV = P e e Ty e p L L O e Ty el
L.,-'C:‘li‘;.J_;'r_'.J i '?:':'é_ oofy Emely T0ED WO om0

et

3. % )
Tilting of the Earth while rotating around itself
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4. %

Question Number : 96 Question Id : 6981771323 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the mineral that 1s available in thin layers and 18 a non-conductor of
electricity and heat
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Options :

Copper

1 % o0

Mica

—IC

2.¥ &=

Manganese

i
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3. %



Aluminium
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Question Number : 97 Question Id : 6981771324 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

These states of India are sharing the boundary with Bhutan
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Options :

Sikkim, West Bengal, Arunachala Pradesh and Assam
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Bihar, Meghalaya, Arunachala Pradesh and Assam
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Meghalaya, West Bengal, Arunachala Pradesh and Sikkim
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Question Number : 98 Question Id : 6981771325 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One of the following is NOT the function of World Trade organization

:;(:‘ Seel Rre) h:]':l oS0l

8. o 2 of £ ot o ot ot
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Options :

It cooperates with the international mstitutions such as IMF and World

bank
56 IMF 80 @Hhoil erobh Hofl wodtpadd donedh Srseoed); @obiiod
1. % ) )
It overzees International Trade p{:rlicien
26 LodTach o £Be3; ATPTPeN D8RS oh
2. % N
It acts as a forum for multilateral trade negotiations
3 % 56 @imarSE Trdey S0 0k D6ET HITH08
It provides financial support to the developing and undeveloped countries
of the world
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Question Number : 99 Question Id : 6981771326 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the Intermediary Goods among the following
8o B, S8 H5

3o hBodol

Options :

Bricks and steel used in construction work

2o°ee Sollod” &H&rAod Bénsen snbdin 65

1.4
Televisions used at home
50t &HErAT BOD:R
2. %
The coal used for cooking purpose
GH: %T 3': -..-:;:_l _!'xT:'I:::'I':"EpI cl I}'L.I
3. % :
Mobile Phones used by the individuals
;é_'i. GooirRod 2 & EFE ﬁf‘éu
4., % - -

Question Number : 100 Question Id : 6981771327 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The valleys lying in between the lesser Himalayas and the Shiwaliks are

called as

Options :

Gorges
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l;_.lrl

1. %



Flood Plains

o
SO HrTren

2. ®
Canyons
i Taitalals!
3. %
Duns
Ersy
4. &

Question Number : 101 Question Id : 6981771328 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The only industry in India which 1s self-reliant and complete in the value

chain 1.e. from raw material to the highest value added products
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Options :

Fertilizer Industry
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Chemical Industry
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Textile Industry
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Iron and Steel Industry
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Question Number : 102 Question Id : 6981771329 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

These forests are found in large parts of India. Northern Australia and in
Central America
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Tropical Deciduous forest
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Tempernte Evergreen forests
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Coniferous forests
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Question Number : 103 Question Id : 6981771330 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator :

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

None Response Time : N.A Think Time : N.A

This type of farming depends upon monsoon rainfall, natural fertility of the

so1l and sustainabilit-}' of other environmental conditions to the crops grown
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Options :

Intensive Subsistence farming
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Simple Subsistence farming
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Question Number : 104 Question Id : 6981771331 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This mountain range forms the northern Edge of the Deccan Plateau
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Options :

The Mahadev Range
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The Kaimur Range
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The Satpura Range
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The Aravali Range
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Question Number : 105 Question Id : 6981771332 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The two prime factors for the suitable location for establishing Aluminum

smelting industry are

Options :

Availability of cheap labour and Regular supply of water resources

T8 578,50 egi# Hochn 8 35Hhe Josd S8HE

1. %
Regular supply of electricity and an assured source of raw material
Bio &R DB BEHT® spBA EXyH HED oflod swEiTrTre $BH0°

2. ¢
Availability of cheap labour and an assured source of raw material
78 578,000 ogf;@ HBdn 853 §6% ofod méatrTre JKEHT

3. %
Regular supply of water resources and availability of transport facilities
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4. %

Question Number : 106 Question Id : 6981771333 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Hot local winds that move down the Rocky Mountains in the USA-
Canada and part of North America are
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Options :

Simmon
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Question Number : 107 Question Id : 6981771334 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following 18 NOT required to construct Human Development Index
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Education-Adult Literacy, combined Gross Enrolment Ratio
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Growth rate of Population
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Real GDP per Capita based on purchasing power
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Question Number : 108 Question Id : 6981771335 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The king of England who believed that the absolute powers of the king were

given by God. so the kings ruled the country by a Divine Right
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Henry VII
@ VII
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Edward VI
&6 VI
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James |
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James VI
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Question Number : 109 Question Id : 6981771336 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In 1789 CE, The Government of the United States of America adopted
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A Demoeratic Constitution
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Question Number : 110 Question Id : 6981771337 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
To accomplish the unification of Germany, Bismarck got the first opportunity
to rouse nationalist feelings among Prussians with opening of the issue of these

places with Denmark
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Options:

Hanover and Hassel —Caszel
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Question Number : 111 Question Id : 6981771338 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Among the following, Identify the preconditions required for industriahization

8oh 8BS Fh 2 EE G ©HI0DN 0ol Af&es HBodod

A) The Concentration of wealth in the hands of those who want to invest
money in production

=

&EBSE" Ko, ) Rénal POHT 776 DS Hodd S0HETm

-15

B'] Availability of workers who were willing to work for low wages
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C] Requirement of large market to sell its pr{)ducts
srBEENE 68 HOD DFooSIE BBIHBHS DY Ty

D) Requirement of cheap raw materials and efficient transport

mfrastructure
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ChGﬂSB the correct answer
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Options:
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Question Number : 112 Question Id : 6981771339 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Nizam Ul Mulk, the founder of the Asaf Jahi Dyvnasty, was the
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Options :
Mansabdar under Mughal Rule
E.-'.-'q.,- 2 are rb'“f‘T 5{“!3}6{:!&;'5
1. %
The Subedar of the Deccan under the Mughal rule
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The Subedar of Bahamani rulers
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The Revenue Minister of Aurangajeb

Question Number : 113 Question Id : 6981771340 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This Mughal emperor granted Robert Clive the right to rule Bengal
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Bahadurshah I

2.

Shah Alam II
3 ap @meo 11

Mohammed Azam Shah
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Question Number : 114 Question Id : 6981771341 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The Central and South American countries are called ‘Latin American

Countries’ since these languages are considered as off shoots of Latin
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Spanish and Portuguese
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French and English
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German and Portuguese
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Spanish and German

Question Number : 115 Question Id : 6981771342 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

! 1
An Inea site of worship. known as Machu Pichu, is in this country
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Options :

Brasilia
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Argentina
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Venezuela

Question Number : 116 Question Id : 6981771343 Question Type : MCQ Option Shuffling

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In the 16 century, these people had established a ‘Seaborne Empire’ over the

Indian Ocean
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Spanish
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Question Number : 117 Question Id : 6981771344 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In between 1839-1842. the two Opium wars were fought between

1839-1842 £ sro0d”, £ Sold Bace :0¢); Gotd dosoth ﬁ}:-fg*e_u e2BrPom
Options :

China and France

B 508 @R
1. %
China and England
e HBdn zormod
2.¢ & '
India and China
OEDS 0 SHddn
3. %
China and Japan
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Question Number : 118 Question Id : 6981771345 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In this system of Government, the Government get their authority from the
people and have to answer to the people
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Constitutignal Monarchy
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Republican Government
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Democratic Government
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Aristocratic Government
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Question Number : 119 Question Id : 6981771346 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

One of the following was NOT true regarding the effect of the Economic
Depression -1929-39
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Options :

% of Americans and 33% of other countries people were unemploved
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As factories were closed down and the trade was declined. cities became
centers of decline
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The millions of farmers stopped cultivating the land as the prices for
agricultural products were declined
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There was no impact of the Economic Depression on Germany

. .
BT o W, UV T R R ’ —% g 0 ol
230 )ed o] =85 s oo (o [od R0 Wedd ath
a -1 =
]

4.

Question Number : 120 Question Id : 6981771347 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The lower house of the German Parliament 1s known as
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Bundesrat

E0OGEPES
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Natignal Assembly
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Question Number : 121 Question Id : 6981771348 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The three principles of the programme of ‘Sun Yet Sen’ were Nationalism.

Democracy and Socialism. Here, Socialiam means
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ATPoTeD. 88, ‘ringardio’ edme
Options:

Overthrowing of Manchu dynasty and distribution of Government lands

to the peasants
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Establishing a people’s Government
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Controlling industries and land reforms to distribute land to the

landless peasants

[
PV N NI - U .
Srealon) moaes 4TRSS B

HBEen JoDowes HBO §-Mhad GMek

saomtesere Dotatio
3.¢ “‘" =



Establishing a constitutional Monarchy in the country
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Question Number : 122 Question Id : 6981771349 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Indian Constitutional Drafting Committee consisted of
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Options:

A Chairman, seven ogther members and Constitutional Adwvisor

a8 BUN, DS HEhzen HBAW a8 TrerioN HedFrd
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A Chairman. nine other members and Constitutional Advisor
2.8 BUR, & H Hob 985 HEhen HBAN 2.8 TRl JedFrd
2. %
A Chairman, Six other members and Constitutional Advisor
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A Chairman, sixteen other members and Constitutional Adwvisor
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Question Number : 123 Question Id : 6981771350 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following, identify the phases of Disaster Management
i o R o £ 2
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A) Dizaster Strike

el L ey
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B) Emergency response and relief
&R50 5088, Hdhardo
C) Rehabilitation and reconstruction

RoeERNo S0Bain 208 o Es0
D) Preparedness and Mitigation
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(Choose the correct answer
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B.C & D only
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Question Number : 124 Question Id : 6981771351 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Doosra’ and the ‘reverse swing' were assoclated with this game
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Kabadda
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Football
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Cricket
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Question Number : 125 Question Id : 6981771352 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The members of the Constituent Assembly were
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Directly elected through adult franchise
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elected mainly by the members of the existing provincial legislatures
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Nominated by the Viceroy
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Question Number : 126 Question Id : 6981771353 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

India will have supreme right to take decisions on internal as well as external
matters and make her own laws and no external power can make laws for

India. This means that
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India 1z a Socialist State
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POEGI0 2.8 PPt TPeis0

1. %
India 15 a Demoecratic State
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2 % L= W) Bl el
India 1s a Sovereign State
ePBEGH0 artcdlsh thesro

3. v
India is a secular State
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Question Number : 127 Question Id : 6981771354 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Among the following, the Indian States having only one Lok Sabha seat are
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Options :

Mizoram, Nagaland and Sikkim
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Manipur, Meghalaya and Sikkim
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Manipur, Meghalaya and Mizoram
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Tripura, Mizoram and Manipur
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Question Number : 128 Question Id : 6981771355 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The followers of Swami Dayananda Saraswathi set up the Dayanand Anglo
Vedic School to
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Options :

Revive a reformed Hindu Religion and to engage in Social Work and
Social Service for national Conatruction
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1. %
Educate children in modern subjects and at the same time keep them in
touch with their religion and culture
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Advocate the worship of one supreme God through simple rituals and

recitation of Vedic mantras
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Educate the children to enable them understand simple rituals and
recitation of Vedic mantras

£ g wE o e —j " Lo L 5 jﬁ-. __L_ﬂ B 4 £
Frln sorTreon 086 38 sho@re WBPo) @00 denHCer ees) dBotito

4. %

Question Number : 129 Question Id : 6981771356 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The article 18 of the Indian Constitution talks abgut
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Equal Protection of Law
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Abolition of Titles
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Equality of Opportunities
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Question Number : 130 Question Id : 6981771357 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The theme of the Road Safety Week, 2006 was
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Our Aim, Zero Harm

3
! o =5

=, VR L o
el0ed%) ool 0200 ﬁf"-’c-i.-

Sustainable Transport
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Road Safety and no Accident
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Question Number : 131 Question Id : 6981771358 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

One among the following 1s NOT a form of trafficking
808 & e Sarer Srso 90 A HBoPod
Options :

Forced prostitution
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Involving children in besging for monev and beating them to obey
E gging 3 g 1

Beny B0 Hzperds® heod DY %o HBAM 3D FrSosihd Sedo

2. # N
Removing body parts and doing busine
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3. %
Threatening to harm or threatening to stop education

4 DROD D EOATHD BBBoSKO B SBAoSE RN BBBoSKO

Question Number : 132 Question Id : 6981771359 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

For the first time in the history of Election Commission, the election

notification for these two constituencies had been cancelled in 2016
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Arav Kurichi and Tanjavore
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Vellore and Tiruchirapalli
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Dindigul and Madhurai
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Shiva Ganga and Tenkasi
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Question Number : 133 Question Id : 6981771360 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Rate of GST for Watches 15 12%. The Maximum Retail Price of a Watch 13
Rs. 22400. The amount of tax to be paid to the Government for purchasing
watch is

Heoiroren GST Bén 12%. 2.8 oS Gws) 183 686 &8 8. 22400. ATy,
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Options :
Rs. 2000
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Rs=. 2400
&r. 2400

Rs. 2600
gr. 2600

Question Number : 134 Question Id : 6981771361 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
One among the following is not the characteristic feature of developing
countries

o] ._.“.q.-.-g oy = e iy o = B Y-,
Eob oS @8N0 Jothéd) Bare efso 527 PAA Bodol

Options :

Rapid Population Growth
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High standard of living
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Excessive dependence on agriculture
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Lack of infrastructural development
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Question Number : 135 Question Id : 6981771362 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following, identify the tax imposed by the state Government
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Options:

Personal Income Tax
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Goods and Service Tax
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Customs duty
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Land Revenue and Stamp Duty
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Question Number : 136 Question Id : 6981771363 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The Indian Law Governing migration and emplovment of Indians abroad 1s
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Options :

The enabling Act, 1933

aaendoh 3 &0, 1933
1. %
The emigration Act, 1983
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The emigration Act, 1924
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The immigration and Nationality Act, 1952
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Question Number : 137 Question Id : 6981771364 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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The Reserve bank of India



The State bank of India
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The Axis bank
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The ICICI Bank
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Question Number : 138 Question Id : 6981771365 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In India, the rates of GST at present are
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5,10, 15 and 20
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5.14.21 and 28
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Question Number : 139 Question Id : 6981771366 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Now a days, all the farmers prefer cash crops to food crops. What problems

does this lead to? This question aimed at achieving this academic standard.

B .-,-5 P B L 2 ' o o ' = £ s !
£ Bered” DRoolth @530 doteb althen arhe; Dot RS, &
o ) = - (=

A =y B e ar ORI T T o . . : L PRI R

e 2 feus S ot oy —_ o =

rdolDedt oB0D D anob? @ [eagy &2 oJTIP? [0deldPERF oy PO TDEIS) GOD00IE s a.
o ) - (=9 Pl

9

Options:

Conceptual understanding
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Reflection on contemporary 1ssues and questioning
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Information skills
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Appreciation and sensitivity
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Question Number : 140 Question Id : 6981771367 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement 1s NOT TRUE related to black board?
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Options :

Black board acts as a marror for the elassroom work
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Students should not be involved for writing on black board
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Black board can be used at anytime as per need
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Black board can also be used along with other aids

Pose 380 6080mred” 505 St 6300rA0tHT M
4, %

Question Number : 141 Question Id : 6981771368 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is NOT TRUE related to Inductive method?
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Options :

In inductive method. learning proceeds from particular to general
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Thinking ability, competencies and skills are developed in children by
this method
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Scientific attitudes cannot be developed by this method
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Question Number : 142 Question Id : 6981771369 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Which of the following statement are true related to map reading?
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A Map reading is an art
D0 BBHEo o8 B¢
B) Any person can read maps
o 358 wonar Déred Shited

C) Maps have their own language

A e a.{—'? i TV + st P 0
wotPesl mErSa0n c*,_'hDGQ_I_""M Goéoold).
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Options :

A&C only
A& Csrpad

1.¢
A & B only
A & B Sresd
2. %
B &' C vl]lﬂj:
B & C 5m@dh
3. %
s AB & C

Question Number : 143 Question Id : 6981771370 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



“To build intelligent democratic citizenship’ and ‘to enable the pupils to use
their lelsure time properly’ respectively are known as
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Options:

Aims, objectives

oy - - T
=0 '-'"‘f-_.“"‘_;_,-. 25" en

1. % -
Objectives, aims
e 5Pren, B84 GITPeD
&g
2 %
Both are objectives
3 % Cotir egren
Both are aims
Colsr addiren
4.

Question Number : 144 Question Id : 6981771371 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following statements are true related to questioning?
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A)

Questioning is mainly three types Le. introduction, developing and
testing questions

80 Hrrdore ird Bsren — Had HYe, wflByf BE)m HiAD H880
B8en

Questions should be definite rather than vague

@8 yen @éﬂ:‘{}orﬁ S0 ?}rﬁég}om. K;;a:}orw Somd

Questions should be suggestive of the answer

HEE SR, SrdoBAm Goted

One of the purpose of questioning is to find out what the student knows

and what he does not know

DEPB8 D Benidy, I B ©DHIH B ML e0Tes” 2,58

ChQDSE‘-‘ the correct answer.
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Options :
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A.B& Donly
A B& Dirgah

A, Cé& Donly
A C& D srgsd

A, B & & Gll]j,'
A B& Cirgad

AB.C&D



Question Number : 145 Question Id : 6981771372 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is true related to specific qualities of a
Social Science Teacher?
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Options :

Knowledge of the subject and areas related to social sciences, knowledge

of current affairs and knowledge about other subjects
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2. %
Self — confidence, good leader and knowledge of current affairs
©; TR0, Do) TANHED HHBC STird HsPrres dodd aerso
3. %
Good communicator, hard working. impartial behavipur and attitude
Foot) DB, 8388, Dapky88 @305 Hdain J98.
4, % ¥

Question Number : 146 Question Id : 6981771373 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



To teach the topic mapping skills, a social science teacher mnstructed students
to draw school map and then village map. In this activity. he applied this
maxim of teaching
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Options :

From analysis to synthesis

. ) e
D25ee ol Hodssged
1. % - -
From whole to parts
5 % dndo ok grisnedd
From known to unknown
BOmES ra) aot 894NN Pa E‘
3. ¢
From general to particular
Frrdes fod 80 I
4 % 2%

Question Number : 147 Question Id : 6981771374 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



National core elements like history of Indian freedom movement, small family
norm., removal of social barriers, development of national unity and
Integration, protection of environment etc. are mentioned by this policy /frame
work
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National Policy on Education - 1968

er8B0%H Doy Do - 1968

National Policy on Education - 1986

80 doe; Do — 1986
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National Curriculum Frame Work - 1988

3 % eraah deyderds Sigoo - 1988
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o
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National Curriculum Frame Work -
Pl JPy R8s Sgoo - 2005
4. %

Question Number : 148 Question Id : 6981771375 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The purpose of this assignment 1s to check the understanding of the topic by

the students
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Options:

Pr ep Cl.l’”'lttjl“i,' ass "'lg nment

i

Co ot W O e o
‘E.‘Iq]b;tw TP 0
1. % :

Remedial assignment
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Study assignment
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Revisional assignment
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Question Number : 149 Question Id : 6981771376 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Narration’ and ‘homework’ respectively are known as
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Options:

Both are techniques

Dot dingyen (techniques)
1. %



Both are devices

Solse apdiare ces
Botr ardaren (devices)

Technique. device

3 @ ging, FrHdo

Device, technique
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Question Number : 150 Question Id : 6981771377 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A class X student got 39 marks out of 50 marks in Summative Evaluation
(SAj). Then the teacher has to mention this grade to that student.
2.8 DHUHSTNE DHred Sorisrerd s sirerosdo (SA]) &° 50 drtyes i 39
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